


Each box of 6 needs to spell the word “PIRATE”
6x6 Wordoku:

The smaller wordoku puzzle grid consists of 6 rows,
6 columns, and 6 inner boxes.

A completed puzzle has the PIRATE letters in each
row, in each column and in each inner box.

To start, some letters are removed.

Solving the puzzle means figuring out what the
letters are to fill back in..

100 Very Easy 6x6 Wordoku Puzzles
100 Easy 6x6 Wordoku Puzzles

100 ,medium 6x6 Wordoku Puzzles

100 Hard 6x6 Wordoku Puzzles

Complete with answers

Each box of 6 needs to spell the word “PIRATE”".
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Puzzle 1 Puzzle 2
6x6 Very Easy 6x6 Very Easy

Puzzle 3 Puzzle 4
6x6 Very Easy 6x6 Very Easy




Puzzle 5 Puzzle 6
6x6 Very Easy 6x6 Very Easy

Puzzle 7 Puzzle 8
6x6 Very Easy 6x6 Very Easy




Puzzle 9
6x6 Very Easy

Puzzle 10
6x6 Very Easy

Puzzle 11
6x6 Very Easy

Puzzle 12
6x6 Very Easy




